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COMPOSITE FUNCTION WORKSHEET 7‘5

Directions: Show all work for credit. Work must be neat and answer must be circled.

[ For 1-9: Let f(x) =2y — 1. g(x) =3x. and h(x)=x’+ 1, Compute the following: |

1. fg-3)) =-19 2. f(h(7) =11 3. (g-h)(24) =S
iy, 705 o 3. n(1)= (1) +1=5° %Chczqﬁ h(z)= 571
Plus Answwr inbo

()= 3D =G L(s0)= A5 5(571)> 3(s77)

LEa)=20-9)-1 1731

4. figh@) =29 5. h(g(f(5))) =750 6. g(f(h(-6)))

h(v)=5 £¢s)=4 hW(-6)= 31
5(8) =75 5(4)=2'T Liv)=z 75

el 1)z (75) =219 "
[(15) h(21) 5 o D

THx+1) = Alrr) = 8.gGa) = 3(3&) 0.hGD = (x-2) ¥l

’-15‘[’11'[ = 5[“ (X"& _25 J_,‘
o X=4xrg v
X=-qx 45

[ For 10-11: Let f(x) =-3x + 7 and g(x) = 2x” — 8. Compute the following: |

10. fig(x) = ~dx+7 . (@hx) =2Ax=9 (-3x3 )3,
f(zn,,b = -3(2&1—_.&3 oy j(.fu}) =aAx>93
158
~Gx #2417 5(—‘»@1) =2 (vx7) - %
AN a(qx"-cn.xﬁﬁ\-?
i 18y~ 84x+93-3
loy- 84X +T0
If f(x)=3x-5 and g(x)=x7, If £(x)=-9x—9 and g(x)=x-9,
" find (fog)3) 1 g (fogllo)
-C(.f,cx))= IR=D .C(ﬁa)) - ~Gx=9

LOE)=308)-5 ()= 90=) -1
£(5G) = “.5(3‘)~S‘ ((‘a;)(lpj = =19

=



If f(x)=—-4x+2 and g(x)=vx-8, If f(x)==3x+4 and g(x)=x",

. & : 15.
find (fog)12) find (go f)-2)
If f(x)=—-2x+1 and g(x)=vx*-5, o Given f(x)=-9x+3 and g(x)=x",
" find (g £)2) " find (fog)x)
” Given f(x)=2x-5 and g(x)=x+2, Given f(x)=x"+7 and g(x)=x-3,
" find (fog)x) " find (f"glv")
Given f(x)=4x+3 and g(x)=x7, Given f(x)=x-1and g(x)=x"+2x-8,

0. cod (go 7)) 2L god (g0 £)x)



Verifying Inverses _
Verify that fand g are inverse functions. CCDO& - 5(&@)

X=X
19. f(x)=x+6, g(x)=x-6 20. f(x)=5x+2 g(x):xT_?‘
21. f(x)=-3x-9, g(x):—%x—S 22. f(x)=2x-7, g(x):x;7

23. f(x)=—4x+8,g(x)=—%x+2 24. f(x):%x—?,g(x)=2x+14



20)

- X%
[ 60)= sxa2 A= =

*3
rCf)C*)) = S X+ 5 (Céx)> = %

i o (o= S22
£(§ >:§é;)+z _ogx.
b it M g % 4

X




21) L6)=-2x-9 a0<) = ‘-éx—:s

Flso=-sx- 1 5 (Fed) = ~Lx,
o I e
= TP X575

X
= X






